

## Multiply by $10^{-3}$ (A)

Find each product.

$$41 \times 10^{-3} =$$

$$45 \times 10^{-3} =$$

$$46 \times 10^{-3} =$$

$$29 \times 10^{-3} =$$

$$96 \times 10^{-3} =$$

$$58 \times 10^{-3} =$$

$$27 \times 10^{-3} =$$

$$79 \times 10^{-3} =$$

$$37 \times 10^{-3} =$$

$$82 \times 10^{-3} =$$

$$81 \times 10^{-3} =$$

$$11 \times 10^{-3} =$$

$$94 \times 10^{-3} =$$

$$61 \times 10^{-3} =$$

$$31 \times 10^{-3} =$$

$$29 \times 10^{-3} =$$

$$21 \times 10^{-3} =$$

$$50 \times 10^{-3} =$$

$$15 \times 10^{-3} =$$

$$46 \times 10^{-3} =$$